Maths 5.1.21 – Revision – addition and subtraction
Choose the sections that best suit you. Try to do some from each section. You do not need to do them all!
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Find the answers below
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A

Work out and then

check with inverse

operation.

QO v @ @
+23 -2

Qe 55 0 9
+38 -3

O ¢ 0@ 75

434 -4

0 2 @ &

+25 -35

@ There are 39
peaple on the top
deck of a bus and
35 0n the lower
deck. How many
people are on the
bus altogether?

Work out and then check
with inverse operation.

Q 3328 @ 24
+242 156
@ 24 Q s
+ 95 282
© 7 @ 2
+336 -1z
QO 715 @ e
+178 245
@ 5% @
445 493
86 @ 835
+197 - 560

 There are 217 houses
on one side of the
road and 194 on the
other side. How many
houses are there on
the road altogether?

@ Aschool has 343
pupil. 185 have a
school dinner. How
many children do not
have a school dinner?

c

Work out and then check
with inverse operation.

Q@ 1295 @ 2582
+_ 472 - 934
© 3607 @ 4308

+2508 . -2358

© 6382 @ 7614

+2645 1527

Q@ 228 @ 9276

+_476 - 5839

4544 @ 8593
+3783 3759

5819 @ 6840
+1394 3457
o

® Aflock of 5647 starlings
isjoined by aflock
of 2893. How many
starlings are there in the
‘combined flocks?

@ Alibrary has 7350
books. 2542 are out
on loan. How many
books are on the library
shelves?
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9 6087
10 3437
114834
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13 8540
14 4808




